| Efficiency vs Dxy |
0.5

R

©

s dxy

......................................................................

o
N
|

efficiency v

e T e e

o
[
[

025

02F { ________ H N
000 O T O S WO

R T L

e o e S
s e e e

10

Ratio

510 15 20
TP dxy (cm)

f v_ui)i(%il ep2 e llcébt:f'tibne_w S
- ‘Eﬁgmggiszf@g.@gf@ |
—DI u

CPEIERBlaECliE

0.5
L T

s dz

a‘ E : : : : :
g O
(8] r : : : . .
£0.35p I

OB
028

G
e —"
o
X
L

H

LI L L I

1

-

4

‘4
S
N
ed—

e

B30 20 =10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


